This Question Paper contains 4 Printed Pages.

22E(B)
SOCIAL STUDIES, Paper - IT

(English version)
Parts A and B

Time : 2%z Hours Maximum Marks : 50

Part-B
Time : 30 minutes Marks : 15

Note: 1. Answer all the questions.
2. Each question carries Y2 mark.

3. For questions from 1 to 10, answers are given under A, B, C and
D. Candidate must use the CAPITAL LETTERS while answering
the multiple choice questions.

4. Marks will not be awarded in case of any over-writing, re-writing
or erased answers.

5. Answer the following questions in the space provided and attach
it to the main answer book of Part-A.

I.  Write the letter showing the correct answer in the brackets
provided against each question. 10x% =5

1. What is the capital of Nagaland ? Rosssess)
(A) Dispur
(B) Karnataka
(C) Shillong
(D) Kohima

2.  The river does not belong to the Himalayan group ? A Lissianr]
(A) Indus '
(B) Ganga
(C) Brahmaputra
(D) Godavari
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The word “monsoon” is derived from ......... . Vesussss}
(A) Greek word

(B). Arabic word

(C) Indian word

(D) Latin word

£

4. The state that has the largest number of Tea plantations is ... . K obasian]
(A) Tamil Nadu ; |
(B) West Bengal
(C) Assam
(D) Kerala

5.  The most important buyer for Indian Iron ore is ... ——
(A) Germany
(B) Russia
(C) Japan
(D) Bangladesh

6.  Zamindari system was introduced by ....... AL
(A) Dalhousie .
(B) William Bentinck
(C) Cornwallis
(D) Robert Clive

7. The literacy rate in India in 1991 was ...... T |
(A) 52.2%
(B) 53.2%
(C) 54.3%
(D) 53.6%

8. Green Revolution is closely associated with utilisation of ....... (PR
(A) New fertilizers
(B) New pesticides
(C) HYV proper management
(D) All the above
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13.

14.

15.

16.

17'

18.

19.

20.

(3]

.......... ranks first when industrial growth is taken as an indicator. t.......]
(A) Karnataka

(B) Bihar

(C) Maharashtra

(D) Uttar Pradesh

‘Self-reliance’ was the main objective of the ............... year plan. Lasvorae)
(A) First

(B) Second

(C) Third

(D) Fourth

Fill in the blanks. : 10xYe =5

TV and Computers come under ...............ooooooovvoooooooo sector.

Now, we are in the ...........co.ocooovovii, Five Year Plan period.
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II. Match the following by writing the letter of the correct answer in the

brackets choosing from the Group - B. Bxifp =24
(i) Group-A Group - B
21. Back-waters [ (4) Cochin

(B) Mount Abu

22. G h. 1 sensens
R [ ] (C) 102.7 crores
23. Dilwara temple Eorety (D) 1952
E) 1950
24. Population (2001) fesssaan] L
(F) Varanasi
25. National Forest Policy fodarissd (G) Indian Postal Service
(H) Kerala
(i) Group - A Group - B 5xle =25
26. Centralised Planning PR (A) The Fourth Five Year Plan.

. B) TheS d Five Year Plan.
27. Anti-poverty programmes  [.......] o el N e

(C) Machine tools &

28. Garibi Hatao Loveorisd Automobiles.
29. Intermediate Goods | (D) Plastics and Petroleum

products.
30. Organised sector [oo.nu] § (E) TV and Computers_

(F) Mixed Economic System.
(G) Socialist Economic System.
(H) R.WP, SFDA, MEAL.

22E(B) MARCH, 2010



